Introduction to Transformations
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Graph the equations using your graphing calculator. Make a sketch of what you see.

Parent Graph: y=x
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Parent Graph: y=||
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Parent Graph: y=x*
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1. What does adding or
subtracting do to the
graph?

(choose one answer)

A. Stretches or Shrinks
the graph compared to i
parent graph

/]

B. Translates the graph-
(moves it up/down or

left/right) compared to
the parent graph
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\| the x-axis or y-axis
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C. Reflects the graph over




Multiplying by a
negatlve:

y=-x
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2. What does multiplying

A. Stretches or Shrinks

B. Translates the graph

"C. Reflects the graph over

by a negative do to the the graph compared to its | (moves it up/down or the x-axis or y-axis |
graph? parent graph left/right) compared to
the parent graph u
(choose ane answer)
Multiplying by a pesitive
number
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by a positive number d

2. What does multiplyin
to the graph?

(choose one answer)

A. Stretches 6r Shrinks

the graph compared to its
parent graph

v

B. Translates the graph |
|(moves it up/down or
left/right) compared to

the parent graph

C. Reflects the graph over
the x-axis or y-axis




